

E-Mail: universal@jarodo.com Web: http://www.jarodo.com/ ©UNIVERSAL MFG. CO. 2010 IL. LIC. PM-9

IMPORTANT NOTICE: State and local laws exist in some areas that determine the legality of this product. Due to those laws constantly changing, the purchaser of this product is responsible for determining the legality in his/her area. Product availability subject to prior regulatory approval in some jurisdictions. This Game may be exclusive in some areas.

Games with a ticket count exceeding 4000, the top individual prize greater than \$500, or less than a 65% player payout, are not available for sale in Pennsylvania. Progressive games not available for play in Pennsylvania.

PULLTABS PLUS, INC 1-877-572-2130 FRIDLEY

1-866-755-8227 MOORHEAD



















DUCKS	OF HAZZA	RD

MNDOH3F					
Ī	8640 Tickets	3 /	\$1.00	\$2,880.00	
	5 Bo Duck		\$150.00	\$750.00	
	5 Luke Duck		\$100.00	\$500.00	
	12 Daisy Duck		\$49.00	\$588.00	
	20 Uncle Duck		\$5.00	\$100.00	
	150 Boss Honk		\$2.00	\$300.00	

TOTAL PAYOUT	\$2,238.00
IDEAL PROFIT	\$642.00
PAYOUT %	77.7%
PROFIT %	22.3%

10 Postings **12 Deals Per Case**



SIZE 8640 COLOR @UNIVERSAL MFG. CO. 2010 FORM #MNDOH3F

Pull-tab (or tipboard) purchasers-This pull-tab (or tipboard) game is not legal in Minnesota unless:

1). An outline of Minnesota with letters "MN" inside it is imprinted on this sheet, and

2). The serial number imprinted on the bar code at the bottom of this sheet is the same as the serial number on the pull-tab (or tipboard) you have purchased. SER. NO.

: universal@jarodo.com Web: http://w ©UNIVERSAL MFG. CO. 2010 IL. LIC. PM-9 Web: http://www.jarodo.com/

IMPORTANT NOTICE: State and local laws exist in some areas that determine the legality of this product. Due to those laws constantly changing, the purchaser of this product is responsible for determining the legality in his/her area. Product availability subject to prior regulatory approval in some jurisdictions.

•This Game may be exclusive in some areas.

Games with a ticket count exceeding 4000, the top individual prize greater than \$500, or less than a 65% player payout, are not available for sale in Pennsylvania. Progressive games not available for play in Pennsylvania.

1-877-572-2130 FRIDLEY 1-866-755-8227 MOORHEAD





	HE CHILL OFF NTTCO3F		
8640 Tickets	3 / \$	1.00	\$2,880.00
2 Bar	\$250	0.00	\$500.00
5 Bottle	\$12	5.00	\$625.00
5 Person	\$75	5.00	\$375.00
5 Snowmobile	\$49	9.00	\$245.00
60 Hot Drink	\$2	2.00	\$120.00
60 Glass	\$2	2.00	\$120.00
60 Ice Cubes	\$2	2.00	\$120.00

TOTAL PAYOUT	\$2,105.00
IDEAL PROFIT	\$775.00
PAYOUT %	73.1%
PROFIT %	26.9%
10 Post	ings

Pull-tab (or tipboard) purchasers-This pull-tab (or tipboard) game is not legal in Minnet 1.3 An outline of Minnesota with letters "MM" inside it is imprinted on this sheet, and 2.3 The serial number imprinted on the bar code at the bottom of this sheet is the same as the serial number on the pull-tab (or tipboard) you have purchased.

©UNIVERSAL MFG. CO. 2010 FORM #MNTTCO3F

SIZE 8640 COLOR

E-Mail: universal@jarodo.com Web: http://www.jarodo.com/

SER. NO.

@UNIVERSAL MFG. CO. 2010 IL. LIC. PM-9

IMPORTANT NOTICE: State and local laws exist in some areas that determine the legality of this product. Due to those laws constantly changing, the purchaser of this product is responsible for determining the legality in his/her area. Product availability subject to prior regulatory approval in some jurisdictions.

•This Game may be exclusive in some areas. Games with a ticket count exceeding 4000, the top individual prize greater than \$500, or less than a 65% player payout, are not available for sale in Pennsylvania. Progressive games not available for play in Pennsylvania.

12 Deals Per Case

1-877-572-2130 FRIDLÉY 1-866-755-8227 MOORHEAD



E-Mail: universal@jarodo.com

IMPORTANT NOTICE: State and local laws exist in some areas that determine the legality of this product. Due to those laws constantly changing, the purchaser of this product is responsible for determining the legality in his/her area. Product availability subject to prior regulatory approval in some jurisdictions. This Game may be exclusive in some areas.

Games with a ticket count exceeding 4000, the top individual prize greater than \$500, or less than a 65% player payout, are not available for sale in Pennsylvania. Progressive games not available for play in Pennsylvania.

1-877-572-2130 FRIDLEY 1-866-755-8227 MOORHEAD



IL. LIC. PM-9 ©UNIVERSAL MFG. CO. 2010

III. LIC. TVI-9

IMPORTANT NOTICE: State and local laws exist in some areas that determine the legality of this product. Due to those laws constantly changing, the purchaser of this product is responsible for determining the legality in his/her area. Product availability subject to prior regulatory approval in some jurisdictions. This Game may be exclusive in some areas.

Games with a ticket count exceeding 4000, the top individual prize greater than \$500, or less than a 65% player payout, are not available for sale in Pennsylvania. Progressive games not available for play in Pennsylvania.

1-877-572-2130 FRIDLEY 1-866-755-8227 MOORHEAD